Packet err rate

The Result of SLOMO Decoder DCC Packet Margin Test
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Bit1 Test (Conforming to the standards CV146 bit1=1)
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Bit1 Test (Conforming to the standards CV146 bit1=1)
0 0
[%] N [%]
N N
9 2 \\
2 \ bit1 B=58usec 2 \ N bit1 A=58usec
5 \ I\ bit0 A/B=100usec 5 1\ bit0 A/B=100usec
= 50 1\ b|t1éA-B|a|Iowance =30usec + 50 WA bit1éA-B|aIIowance =30usec
-:4% T\ SPEED 51 packet < VA SPEED 57 packet
£ T\ & \
\C NA
10073 74 75 76 10074 75 76 /7
[usec] [usec]
bit1 A width bit1 B width

Bit1 Test (Wide CV146 bit1=0)
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Bit1 Test (Wide CV146 bit1=0)
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